Matching analogue and digital
data



Magnet current: 220mA

Sain = 1000, feedback offt Gain = 1500, feedback off Gain = 1700, feedbhack off
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Magnet current: 220mA

Sain = 1000, feedback off Gain = 1500, feedback off Gain = 1700, feedback oft
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Magnet current: 245mA

Sain = 1000, feedback offt Gain = 1500, feedback off Gain = 1700, feedhack off
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Magnet current: 245mA

Sain = 1000, feedback off Gain = 1500, feedback off Gain = 1700, feedback oft

A0 200 120
300 = 150 100
B B B
= 200 = 100 = g0
o i} iy}
= = =
100 \\ Gl GO
0 . ' A0 . :
O 10 O 10 20
pulse offset pulse offset pulse offset
Sain = 1000, feedback on Gain = 1500, feedback on Gain = 1700, feedback on
150 150 150
= 100 = 100 = 100
= = =
[} iy} iy}
£ A0 = a0 E A0
0 . 0 . '
O 10 0 10 20

pulse offset

pulse offset

pulse offset



Magnet current: 270mA

Sain = 1000, feedback offt Gain = 1500, feedback off Gain = 1700, feedhack off

chi sgquared
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Magnet current: 270mA

Sain = 1000, feedback off Gain = 1500, feedback off Gain = 1700, feedback oft
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Magnet current: 295mA

Sain = 1000, feedback offt Gain = 1500, feedback off Gain = 1700, feedhack off
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Magnet current: 295mA

Sain = 1000, feedback off Gain = 1500, feedback off Gain = 1700, feedback oft
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Magnet current: 320mA

Sain = 1000, feedback offt Gain = 1500, feedback off Gain = 1700, feedhack off
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Magnet current: 320mA

Sain = 1000, feedback off Gain = 1500, feedback off Gain = 1700, feedback oft
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Magnet current: 350mA

Sain = 1000, feedback offt Gain = 1500, feedback off Gain = 1700, feedhack off
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Magnet current: 350mA

Sain = 1000, feedback off Gain = 1500, feedback off Gain = 1700, feedback oft
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Magnet current: 380mA

Sain = 1000, feedback offt Gain = 1500, feedback off

chi squared

chi squared
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Magnet current: 380mA

Sain = 1000, feedback off Gain = 1500, feedback off Gain = 1700, feedback oft
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Analogue beam distribution
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Digital beam distribution
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Conclusions

If beam |itter of the order of the resolution
of the processors then analogue and
digital data cannot be matched.

Analogue resolution ~ 10um
Digital resolution ~ 1um, | think...
Matching should be possible
— Need to debug the code more

Matching needed for processor offset
analysis



